G5-M2-Lesson 20

1. Divide. Then check with muitiplication.

| do a quick mental estimation to find the quotient.

a. 48+ 21 40+ 20 = 2
The actual quotient is 2 with a Check:
2 Ré& remainder of 6.
Z1 1 4 B8 2 1 42
& Pl check my answer by multiplying the ey Yor

divisor and the quotient, 21 X 2. Then,
I'li add the remainder of 6.

This 48 matches the original dividend in the problem, which
means | divided correctly. The quotient is 2 with a remainder of 6.

b. 79+ 38 << |do a quick mental estimation to find the quotient.
80+40=2
. N Check:
2 B3 TI'Te'hactuat c;}.:(:jtic-:fniiC i; 2

327 o with a remainder o1 5. 3 8 T &

- 76
— X A + 3
é 6 79

After checking, | see that 79 does match the
original dividend.

A
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Area Is equal to length times width. So, | can use the area divided by
the length to find the width,

A=Ilxw and S A+l=w

2. Arectangular 95-square-foot vegetable garden has a length of 19 feet. What is the width of the
vegetable garden?

55 = 19 = 5§ I'll do a quick mental estimation to help me solve.
100 +-20=5
e The quotient of 5 means the width is 5 feet, with 0 feet remaihing. ]
I2:9 5
- 95
0

The width of the vegetable gorden is 5 feet.

3. Anumber divided by 41 has a quotient of 4 with 15 as a remainder. Find the number,

‘ﬁ In other words, 4 units of 41, plus 15 more, is equal to what number? ]

41 41 41 41 15

4 RAS ‘% I know I have to find the missing dividend.

a1l

J/

| need to add 164 -and the
remainder of 15 1o get 3 total of
179. The dividendis 179.

| can multiply the divisor of 41
and the guotient of 4 to get 164,

16 4
The number is 179,
+ 1 5
1 7 9
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